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qremreiardr SEG) / Guidelines for the Candidate
1. 39eATd ATarT g YRET $hApRI 3cdl 9T Porear T & €.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. 9Rel g% groaydl fearedisr carear 9ol Argdrdr @ aoaErdr 30 A it 9o dvard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYTARHET THKUT 100 TR& 3 Tcdh JRAATST 2 0T 3Te.
This question booklet contains 100 questions each question carries 2 marks.
4. ¥I 9T QS0 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.
5. 3MUcAT FEITE TRAYREART [ATeard! Tl Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg.

Q. x : - Fill in the blanks. Visit www.rtsexam.com for Answer key after 8 days
My father went............cccceeruenneene. To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUCAER JHH SccRUTIehl THAETHIhS TRl .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3Year URET HATh TeAYRAHa Fear fAgrar a Hex yRAYREdenr aRat Hleraticder 3aedr diad =rd.
Write your Roll No. on the Question Paper too and take it home for future reference.




ST gdld ofid T hIuTd?

NG IEL B) fAETaY C) e D) STaHT
Which is the longest river in the world?

A) Nile B) Mississippi C) Ganga D) Zambezi
FAATeIST Fald HST A HI0TT?

A) HaT B) I® C) g D) H&
What is the biggest planet in our solar system?

A) Mars B) Jupiter C) Earth D) Sun

HRATII AT e JHUT 3Gl AT AT ?

A) 3TeICer B) dlffaseIrg C) WS D) AGRTSE
Which state in India has the highest literacy rate?

A) AndhraPradesh B) Tamilnadu

C) Kerala D) Maharashtra

HRATAT TSI 90T HIoTAT?

A) e B) arer C) AR D) &call
The national animal of India is

A) Lion B) Tiger C) Peacock D) Elephant
HRATY HIATeT SHIOTAT Hell TEghRel?

A) %Yo B) g%l C) 2R%¥<¢ D) §]%R%
The constitution of India was adopted in

A) 1950 B) 1947 C) 1948 D) 1949

HRATAT gfgedr Al TSCUAT hIuT?

A) Sfexr amelr B) &faar amefy

C) 31T I D) AT fde ardrer
The first women president of India is

A) Indira Gandhi B) Sonia Gandhi

C) Amruta Rao D) Ms. Pratibha Patil

IRTAFAR PIUTT AT 3T ?

A) 3TaT B) HS C) gelee D) feeelr
Char Minar s in city.
A) Agra B) Mumbai C) Hydrabad D) Delhi




10.

11.

12.

13.

14.

ST gATareT feay Hiorar?
A) 8 ST B) 4 St

World Environment day is celebrated on
A) 5t June B) 5t July

RBI ¥ faE&ald &9 Hiora?
A) RSeel g 3% Sf3aT
C) 3B & 3w sf3ar

What is full from of RBI?

A) Regional Bank of India
C) Red Bank of India

C) 8 AR D)y A
C) 5" March D) 5t May
B) Re1d d& 31w sfzar

D) XS & 3T SR

B) Reserve Bank of India
D) Reputed Bank of India

HIATAT ToleATdlel ¢000 &, TAT silcay IV Tl ITAA?

INREGEGIC) B) IrseydY

C) T D) HETHAT

Whose signature is printed on Rs.1000 note of India currency?

A) Prime Minister B) President

JEeTd g 3Nor.
A) TSTEATT B) IoRId

Find the odd man out

A) Rajasthan B) Gujrat

aIaeel = MY HIof wArern?
A) H.TA.S3S

C) &Y e

Who invented television?

A) J.L.Baird
C) Sir Robert Walpole

YT 3HeaATal JHd T RUTAr?

A) grofr B) delEdcl
What is the major source of our food?
A) Animal B) Plants

Ao IRATNS IUTaT 22T 2dr?

A) HRA B) 3THRGT
Which country awards Noble Prize?
A) India B) America

——

C) Governor D) Chif Minister

C) HeS D) diTfHws1Tg
C) Mumbai D) Tamilnadu
B) Jforelrar
D) ITdhT ATET
B) Galileo
D) None of these
C) grufr D) ATH
C) Water D) Fish
R IEG] D) =T
C) Sweden D) China
)|
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

3aTeId ST gfgell RO ARG Hor?

A) giadr faearg
C) IIIAT Agarel

First Indian woman to go into space
A) Sunita Williams
C) Saina Nehwal

HRATT GdYeTeT iU Ted?
A) eRE 9AR
C) AIART &

Who is the Prime minister of India?
A) Sharad Pawar
C) Manmohan Singh

Identify the subject in the following:

A bird in the hand is worth two in the bush.

A) A Bird
C) Is worth

Select the synonym of the word:
Obedient

A) Rude B) Collector

B) famtur &1

D) helddT dTdell

B) Kiran Bedi
D) Kalpana Chawla

B) g Al
D) ¢dg HeUTarg

B) Naredra Modi
D) Devendra Fadanvis

B) A bird in the hand
D) two in the bush

C) Devoted D) Imaginative

Select the appropriate article before the following noun.

Uniform

A)A B) an

C) The D) none of these

Find the word similar in meaning to the word - Mob

A) Crowd B) stop

Fill in the blank with most suitable verb:
seen the movie.

Sanay and Shivtej
A) Is

B) have

Find the antonym of the word:
INCREASE

A) Boost B) Decrease

C) wipe D) movement

Choose the correct word to complete the sentence:

An honest person is one who

A) Telling B) tells

Choose the correct spellings:
A) Aceleration B) Accelration

——

C) has D) are

C) Raise D) Hike
the truth.

C) told D) tell

C) Acselration D) Acceleration




25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Choose the name of the young one of the following animal
Horse

A) Calf B) Colt C) Kid D) Ram
Choose the wrong contraction.

A) Can’t B) He's C) Cant D) Won't
AR O] aar Tagrem #a?

A) STdT B) §&ST ) fRemw D) ©Tar
qéreT HigTd T qOT &9 34T,

A

A) FSRT HI=Tel B) HFhIH Gradl  C) HFHIH GRC D) Heldalm Gigell
QI feelear AseTihT Heglesieh sAdelell se HIUTAT?

A) ST B) 3N C) T D) ITH
TIEATS’ Teeran Tavgrdl eree gATaTa Qnem.

p) TS B) $1XUTS C) HETIMS D) TS
FEIETT AT AT alef HART bl 2reg dAR gieiter?

A) @ B) ol C) 9T D) IR
BTUTHIR’ AT LAscre faegrdl erse 3ilesar.

A) eTsiidr B) RS C) gif> D) g:@r
TTellel Uehl ASGTHTST VT AsGHAG foiasTer.

fRremera -

A) EaTsTeiter Hcil B) 3RFYINNcIeT HATIH

C) = gars D) ITSTaR elel o™

GTellel ASCTUhT SAISesE, ATl 2sE HIUTAT?

A) STTcROT B) HTSUTACT C) dera@sT D) GEdaHT
qITATAST A9Tedr ST 3N,

A) Tge-T9er B) X -ERXY C) amET-arefr D) RFvh-RFvar
Qreier Arseiiehl AqaehiciN reerar g2 fAasr.

A) BT B) @rér C) == D) Y&

( 1
L 4 )




37.

38.

39.

40.

41.

42.

43.

HYOTH HR3SAT HAMAEA FHBA?

A) Taegd B) dRT ) g& D) 319]
Solar energy is the energy that we get from the
A) Electricity B) Wind C) Sun D) Atoms

TTolTdhT el ANSTUATT Ueheh 0TI ?

A) X B) ferex C) fratrare D) fAehforex

Which of the following is a unit for measuring length?

A) Meter B) Litres C) Kilogram D) Millilitres

GrellerdehT gd gerdl HIuTdr?

A) &Y B) drufr C) el D) J&Ieh
Which one of the followings is a liquid?
A) Cup B) Water C) Table D) Books

qedrea Tald SdsaT dRT ShoTdr?

A) TG B) gY C) I D) §&
Which of the following is the nearest star from the Earth?

A) Moon B) Mercury C) Jupiter D) Sun
ARt AT SGolul T STel 3Te.

A) Hacrt B) HUTFITY C) IS D) H
Which of the following joints can be replaced by surgery?

A) Skull B) Vertebral Column C) Knee D) Neck

GrelleTdhl ATl T hI0TAT?

A) 3 AgAl aTd rEofie SRl

B) RIaTei Fhredl e & Emddr g fad.
C) Tolel T Shdes STgYedT dlels ETHcT

D) T AJHT YTy HgHT @ral.

Which of the following is a good habit?

A) Amar cleans his teeth with pins.

B) Shivani drinks milk without brushing her teeth in the morning.
C) Rajan does not brush his teeth from outside.

D) Sanay eats fibrous food regularly.

AT G9ROT JGWoT I A,

A) I1.T.5. B) Ter.UI.Si. C) MIEH D) A, B, 3TTOT C fa=Tgr

Pollution can be checked by the use of:

A) CNG B) LPG C) Biogas D) A, B,and C




44,

45.

46.

47.

48.

49,

50.

gL eRTeIciel TaTd STdesaT AT HIoT?

A) T B) dg C) Th D) HI&D
Earth’s closest neighbor in the space is
A) Sun B) Moon C) Venus D) Mars

Grelleldehl T qerd Hiordr?

A) HIT B) dleds C) g D) SaRY
Which of the following foodstuffs contains proteins?
A) Green gram B) Rice C) Wheat D) Jawar

AT gdciiel dlthd YHIUT dleedrd i gla?

A) §ATATT U3 g B) EATHAT R3S &l

C) §aTHATT &HAC BId D) BATHTATT Hieh Usd algr
What happens if the amount of vapour in the air increases at a particular place?
A) Weather become cool B) Weather becomes dry

C) Weather becomes humid D) No change in the weather

IR S FIVTAT dARWT TadT SHTelT?

A) 23 HWTST 9R4o B) Q& SATAAII §R4o
C) 29 3T 2_YL D) € SR 2]%L
On which day did India obtain freedom?

A) 15™ August 1950 B) 26 January 1950
C) 15 August 1947 D) 26% January 1947

GYCLUYSBCRESYY TIT TEAATS el TATATAY AT 37k hIUTdT?

A) 8 B) & C) ¥ D)L
The digit at ten millions place in the number548745896545is
A)5 B) 6 C)4 D)7

> A1 Ereller FHAT OIS HIOTAT?

4

3 0 39 28
A) p B) 2 C) v D) v
Which one of the following is the equivalent fraction ofg ?

9 7 35 11
A) 3 B) 5 Q) ™ D)E

Greloldhr 3198T UHT T&AT HIUTAT?

A) Xl B) XL C) CD D) XX
Which one of the following is meaningless in Roman numbers?
A) Xl B) XL C) CD D) XX




51.

52.

53.

54,

55.

56.

RoR0¥S HEFT ¢oCyR Tall .

A) CRCY¥R3 B) ¢R¢NR3 C) ¢R¢3R3 D) ¢R¢2%R3
Subtract 10852 from 909045.
A) 898493 B) 898293 C) 898393 D) 8983193

Ty b¢ T, ¥3 YATT Teh UeT f9ohd Sdedlad] fasdies Yo ¥ 4948 U4F 3ol ¥

foearehs Tepor fahelt T9T g1d?
A) 222 T B) 83% % C) 29 % D) 2R ¥
After buying a pen for Rs.78.45 Sanika left with Rs. 40.55 Find the total money she had?
A)Rs.111 B) Rs.139 C) Rs.119 D) Rs.129
e AEel BIATThc a7 BT WTelToTdehT HIUTeAT 3qUITehlel GidTel?
g ] R
A)s B) 0, D) -

What part is shaded in the following figure?

1 7 2 2
A) > B) Q 5 D) 3

¥$Q EIT TEIAST Tlellolhl AT TS ¥ AT H19T STar?

A) 3 B) ¥ C) R D) B&C
The number 4252 is divisible by which one of the following numbers?
A)3 B) 4 C)2 D)B&C

GrelTorishl AT 3qUiTeh HI0TAT?

3 o b 3
A) - B) ; 0 ; D) -
Which one of the following is a proper fraction?

5 7 7 3
A) o B) ¢ Q¢ D) -

R fRIA ATER ¢ TFAIAT TAVHAIUNT ACeATH Tcdohredl ATl fohll AH TG ASal?

A) bSs B) 4o C) bYo D) Re

If 9 Kg of Sugar is equally distributed among 12 person. How many grams of sugar will each person
get?

A) 75 B) 950 C) 750 D) 90




57.

58.

59.

TNl 3T9UTTRIET I&dT shd oldT.

(.3
'}

wl& 2

R ¥
37 R

¥ 9
A)E! 3! G!

w | L

R 5
3’3’

g

¥
C O

Arrange the following in ascending order:

2 4 5 5
3’9’ 7' 3

A) 5,

O | »
winN

5 5
7" 3

(@)
—
wIiN
wlun
O | &
g G

ey JAT AT adasrdl IRIA fhcf?

A) ¢¥ THT B) ¥y THT

Find circumference of the circle whose diameter is 14 cm

A) 14 cm B) 44 cm

"rellel 3Mepciicirel f3hroT

A) 3T
C) faseerst fepior

The following figure is a:

60’

A) Rectangle
C) Scalene triangle

——

B) 3!3!3!3
3" RT3
D) S'E,E,?
3"’ 1 "3
B) EIiIE!E
3°"9 "3° 7
p) 2,233
3°'9 7°7°3
C) ¢¢ T
C) 88 cm
3R,
B) AT TAhI0T

D) alier |9

B) Equilateral triangle
D) all of these

D) ¢€0 HAT

D) 160 cm




60.

61.

62.

63.

64.

65.

3
(8

3 3 4 9
A) ?g B)?G C)3q D) ?3

13

Convert the improper fraction ? into a mixed number.

3 3 1 5
A)1§ B)Zg C)35 D) 23

Teh R ¢ arlard 2390 fhellffAey 3a¥ FHUd ¥ W dEd & dR hdr fhelfAet
SATSol?
A) Yoo TehalY B) 2¢oo faraT C) 2600 foralY D) 000 fehaY

A Car covers the distance of 1350 Km in 18 hours. Find the distance covered by the in 24 hours.
A) 1400 Km B) 1800 Km C) 1600 Km D) 2000 Km

6Q IR fhAT ¢¥2E Mg d¥ Tehr isara fhad frdi?

A) U 3. B) 39 3. C) ¥ 2. D) W 2.
If 59 mangoes costs Rs.1416 then find the price of 1 mango.

A) Rs.28 B) Rs.35 C)Rs. 42 D) Rs.24
fIaTIT=T dROM IS FIVTA ATHBIOT Shel?

A) IS B) ISI9TS W EERIE] D) [gs
Shivaji named Torana as

A) Raigad B) Rajgad C) Prachandgad D) Sinhgad

TBSTIETATIAT dehlel hIUT BIAT?

A) §3T §IIG B) hSUTT $IEHT FeTehUfi
C) 9dTsir IdATer D) FrEl geX
was the Vakil of Afzalkhan.
A) Bada Sayyad B) Krushna Bhaskar Kulkarni
C) Pantaji Gopinath D) Kazi Hyder
AT HelWIc afelran atur fear Raw ad, < FEOTAT.
A) @suft B) IraT&d
C) TRreTear feEar D) TS
The one-fourth of the total revenue from the enemy’s territory collected by Shivaji was known
as
A) Cess B) Custom Duty
C) Royal Dues D) Chouthai




66.

67.

68.

69.

70.

71.

fRIeRTaers cgredr SRR ET gAR frea 817

A) fo00 B) Qoo C) 300 D) Yoo
Shivaji was in possession of more than forts.

A) 100 B) 200 C) 300 D) 400
BRG] =T eTScl HEETHT I8 holl?

A) TR B) TATS C) AT} D) fRIaeR
Shivaji defeated the Mughals in the battle of?

A) Purandhar B) Raygad C) Salhar D) Shivner

aifeTd o AT g UMV SHTel?

A) ¥ 3TOT 31hak B) §ATY T RATAGT

C) AUS T NEHGART 3TscToll D) ATTCRRIET HTel

The third battle of Panipat was fought between?

A) Hemu and Akbar B) Humayun and Shershah
C) Maratha and Ahmed shah abdali D) Nadirshah Mughal

el 200E BT G TG HIVMRION HTell?

A) ST AT ggrarear s B) S T Zarol

C) RIS g Grifarst D) SISt @ FEY =T Felcllal
Between whom was the treaty of purandhar in 1776 made?

A) England And Nizam of Hyderabad B) Marathas and England

C) Marathas and Portuguese D) England and Sultan of mysore
ISCYYTT ASS © =T ToTPRARTT AT HSD gld?
A) R8T afger B) FSURGA

C) STelall dTeiRTd D) fRrarsir

Ashtapradhana was the official council of?

A) Harihar | B) Krishnadeva Rao

C) Balaji Bajirao D) Shivaiji

RraTelt ASRISTAT &fAuaTd ReTSeTE T2 3Tl ATGr HROT.
A) FITATS AegTaR fAG=0T sega. B) FRTS IMATAHTATT fAY0T gl

C) HITCAIhs IHRAR g, D) ITFI TEY.

Aurangazeb failed to defeat Shivaji because they?

A) Mughal army grew un manageable. B) Marathas were expert in Guerilla-Warfare.
C) Mughal had no navy. D) none of these.

10
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72.

73.

74.

GHTEG S Iiell HI0TAT AR feelr?

A) ST Sa ST fHareT B) 51T fg

C) d¢ HATRHA D) Seehelld TSiGIETE,
Which one of the following slogans is attributed to SubhasChandra Bose?
A) Jay Jawan Jay Kisan B) Jay Hind

C) Vande Mataram D) Inqilab Zindabad

ST o1 SHOTRY 3ehcil ATET,

Find the odd man out.

' 2
ipliad
A) B) ) D)

Frellel FR& 3Tl RS Ffdar ever

SRaT 3Tehcll 3cdX 3Tl
<
S s s A
é —~ @~ ~1—
A) B) C) D)

Find the mirror image of the question figure

Question Figure Answer Figure
@&
s s s A
I ~—
A) B) C) D)

11
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75.

76.

77.

Grellel 9T JThcl I ol Yfdfee e,

=
=)

Oy

Vl

TR 3Tl 3caR 3l
=] VO
=)

I[Trrrrrrrrl

A)

B)

find the water image of the question figure.

)

D)

Question Figure Answer Figure

ITrrrrrrrr

A) B) o) D)

SeAfegredr Sl HIoTd AT ASeT?

9 < |2

b < ¢

R | 7
A) 22 B) %o C) goo D) ¢2¢o

Which of the following numbers will replace the question mark in the box?

7 8 |9

5 8 1

12| 16 ?
A) 11 B) 10
IeTd  SHOIRT TEAT HI0TAT?
A) Qoo B) £¢o0
Find the odd number out?
A) 900 B) 1800

C) 100

C) %&oo0

C) 1600

12

D) 110

D) o0

D) 2500

——
| —




. AOO. OOA.OAQ
AAODO 8 OO A oOOA O AO

79.  TH HIUTH 3l @
9T 3MThcll

O:a:Q

O) a 6

A) B) C) D)

Find the figure that belongs to the group of figure in the question.
Question Figure

O a0

Answer Figure

() o & o

80.  W@rellel JTeTclel el Te; 3icadl.

€Y, 3, %€, ¢, ¥, R, 0

A) &Y% B) O C) R D) ?¢&
Identify the wrong term in the given series.

64,32,16,8,4,2,0

A) 64 B)O C)2 D) 16

13
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81.

82.

83.

84.

85.

fodem Rasdhr Wsdhrem HIAEr, HAEITAT [T Fgeo; di Hrad dldaee] STl JHaTd?

INREGIGIH B) T@sdre C) SIATSTeIT DREIGIH
If wall means window, window means corner, corner means staircase, where do we put curtains?
A) wall B) window C) corner D) staircase

grell feelear arerell Jeum qe ferer.
AX, HC, FD, ?
A) BY B) IE C) LB D) PM

Find the term that belongs to the group
AX, HC, FD, ?
A) BY B) IE C) LB D) PM

qélel AT UfgedT Sl YSTHEY STHT HaY 3iTg, dAr T fd@=ar g wraAfegrear
ST TASAT USTd HTE. &1 e oIefld U3ed UATIegear SRl &hold 3cal AT o
QM.

In the following question, the relation between the first term and the second is the same as it is
between the third and fourth term taking this into consideration which alternative will come in
place of the question mark?

R : YT :: HBRISE : ?

A) HEIHA B) IsgdTel C) Hs3 D) 3mgerd
India : Prime Minister :: Maharashtra : ?
A) Chief Minister B) Governor C) Mumbai D) Commissioner

3epTer : fAA 1 FHe o ?

A) gl B) STgTel C) D) AT
Sky: Aero plane ::Sea:?
A) compass B) Ship C) Fisherman D) Fish

Grellel 3MepciAed Beplomel g wiehlerel Jear 3egshar fandr?

In the following figure, what are the numbers of triangles and quadrilaterals respectively ?

A) 3,3 B) ¢R, & C) & ¢ D) 3,8
A)3,3 B) 12,6 C) 6,12 D)3,6

14
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86.

87.

88.

89.

90.

91.

92.

93.

T eRATIT AETT FFeT WroleT ULEATd IeTd of SHUTRT GATT QM.

Find the odd man out

A) SPM B) OKG C) WTQ

ST AE = €8 3170T BD = ¥ d¥ GH = fahdl?

A) < B) Cb C) &b
If AE=15and BD =24 thanGH ="
A) 78 B) 87 C) 67

amnonbcmnwnaobwrb

AT SIS HERATIT n g &R TRl daar 3mer 32

A) 8 B) 3 C) ¥
How many times n is appeared in the above letter series.
A)5 B) 3 C)4

IeTd J SHUIRT TEAT 3T

A) 3&b B) Wy C) 8¢

Find the odd man out

A) 367 B) 275 C) 582
TRl IR G RIGH

A) HHA B) dTITedT C) Thd
Everyone has needs.

A) Equal B) Good C) Only one
oIgTel HeAlolT HIGAThge I fAhA?

A) TRTeAT Fadr B) dTSc TaAr
SR ICLIE EECIE] D) ST ATl Rar
What should children learn from elders?

A) Good habit B) Bad habit

C) Professional facts

rolTeTdehl SaRT sT dAR hell SITOTR qerey SHorar?

A) €TTE B) ardr C) 3ol
Which of the following food items is prepared from Jawar?
A) Dhapate B) Dosa C) Idli

STHBITAN HERISE AT AT foheral shAieh 3Tg?

D) IFC

D) 9R

D) 59

D) ¢

D) 1

D) %93

D) 153

D) fafasr

D) Different

D) old customs and traditions

D) 85

D) Bread

D) faar

D) Third

A) UT=Er B) fgelr C) ggrar
What is the areawise rank of Maharashtra state in India?
A) fifth B) First C) Tenth

( |

(L * )



94.

95.

96.

97.

98.

99.

100.

HERTSEIClTSl AUNESAT GHE HTET hi0Tl?

A) & B) fagR C) derrd NEICEI
Which of the following is a major source of water supply in Maharashtra?

A) River B) Well C) Lake D) Canal
Grellerdehl 3TuTfde g he HI0T?

A) STIHarar B) o C) dRTY DRWIGEIE
Which of the following is a atomic power station?

A) Jayakwadi B) Turbhe C) Tarapur D) Radanagari

g Ush Yo o Mg,
A) gOIT B) 3ieTeTe C) 3FRIadr D) HEHCTIR

N

is a railway junction

A) Purna B) Aurangabad C) Amravati D) Ahmadnagar

3ETaIESTadr HuTar feear gfae 3me?

A) IED B) 3ffoior
W RAGGICI D) Yegleal
The fort of is located near Aurangabad.
A) Verul B) Ajanta
C) Daulatabad D) Panhala
g 3URURS ISaTY=T 3Te.
A) SEfEs g B) WAl ool
) |k 34 D) EITEr HiaT
is a non-conventional energy resource.
A) Natural Gas B) Mineral Qil
C) Solar Energy D) coal

YETTIhT HIUTT AT Toi-dodedl FeRlld Jd?

A) 3TgHSTIR B) 3THTGdT

C) 3Remere D) e

Which city lies in the rain-shadow region of Maharashtra?

A) Ahmadnagar B) Amravati

C) Aurangabad D) Mumbai

ATYST TaeREHE g U3 gad fohmr AR,

A) 9Tel B) 3TT&Toll C) 9TaTufY D) WsTesl
is the hill station situated in the Satpuda mountains?

A) Pal B) Amboli C) Pachgani D) Khandala
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